Tabela wspodtczynnikéw Studenta-Fishera tm P m=N-=1
, =

. . . _ (N — liczba pomiardéw w serii)
M - liczba stopni swobody, p - poziom ufnosci

m P 0,6827 0,90 0,95 0,9545 0,99 0,9973
1 1,8374 6,3138 12,706 13,968 63,657 235,78
2 1,3213 2,9200 4,3027 4,5266 9,9248 19,206
3 1,1969 2,3534 3,1824 3,3068 5,8409 9,2187
4 1,1417 2,1318 2,7764 2,8693 4,6041 6,6201
5 1,1105 2,0150 2,5706 2,6487 4,0321 5,5070
6 1,0906 1,9432 2,4469 2,5165 3,7074 4,9040
7 1,0767 1,8946 2,3646 2,4288 3,4995 4,5299
8 1,0666 1,8595 2,3060 2,3664 3,3554 4,2766
9 1,0588 1,8331 2,2622 2,3198 3,2498 4,0942

10 1,0526 1,8125 2,2281 2,2837 3,1693 3,9569
11 1,0476 1,7959 2,2010 2,2549 3,1058 3,8499
12 1,0435 1,7823 2,1788 2,2314 3,0545 3,7642
13 1,0400 1,7709 2,1604 2,2118 3,0123 3,6941
14 1,0370 1,7613 2,1448 2,1953 2,9768 3,6358
15 1,0345 1,7531 2,1314 2,1812 2,9467 3,5864
16 1,0323 1,7459 2,1199 2,1689 2,9208 3,5441
17 1,0303 1,7396 2,1098 2,1583 2,8982 3,5075
18 1,0286 1,7341 2,1009 2,1489 2,8784 3,4754
19 1,0270 1,7291 2,0930 2,1405 2,8609 3,4472
20 1,0257 1,7247 2,0860 2,1330 2,8453 3,4221
25 1,0204 1,7081 2,0595 2,1051 2,7874 3,3296
30 1,0170 1,6973 2,0423 2,0868 2,7500 3,2703
35 1,0145 1,6896 2,0301 2,0740 2,7238 3,2291
40 1,0127 1,6839 2,0211 2,0645 2,7045 3,1987
45 1,0113 1,6794 2,0141 2,0571 2,6896 3,1755
50 1,0101 1,6759 2,0086 2,0513 2,6778 3,1571
100 1,0050 1,6602 1,9840 2,0253 2,6259 3,0767
0 1,0000 1,6449 1,9600 2,0000 2,5758 3,0000




